
A5E5U1 31
AEM9A7
AR4S7F 20
B5L856
BN2U42
BQ4L6J 23 31
COON82 24
CR50H6
D70THD
D8AQP2
D8HYT5
D8KCEZ 34 34
DGU0O0 29 30
DHBMDF
DYCM11 21
E161WS
EHOQSY 20
EMBK7T 28
EQGY49 14
F6OS4M
FBLVOM
FF554G
FR3CTG
FVIQLY
G58HDV
G7OZBD
GA0C8X 34 32
GCV1W6 34 33
GG48OG
GLITZ1
H8S0MR
HIOX73
HJ73NV 28 31
HOEKDC 35
I3AM24 32 30
I7HEB4 24
IQYK5U 9
ITJJMP 31 30
JKN0IH
JVKJN6 16 34
K074US 17 31
KB5F60 24 30
KSTGEA 30
KWJKVT
LGU2TR 29 34
LKULW7
M9G25D 30
MGPLA3 25
MMFLLR
N0MOC9 26
N6MUF5 20
NA1CKW 9
NUO3PX 32 34
O6L30F 30 32
OBQEQA
OFYNYA
OYN0CY 16 24
P0MK80 39 37
P3LTOR 37 34
P3P4GJ 31 21
PB38LU 23
PLWQC4 28
QB4QPS 24
QF1338 32 34
QXYD3T 35
R5DRYZ
RB9IMM 36 25
S2JEIA 14
SBOD31
T59V4Z
TBD41S
TBTGL2 27
TT9X2B
TZ5L2K
U6WBR8 32 33
UGGSW9 20
V0QG0L
VBPDW7 33 35
VESNFH 27
VYVXWR 33 33
WIP142
WMS0MJ 34 31
X28E2R
XF3M3Y
XHALZK 20
XNFFI2 31 30
YH0WOY 25
YMR3OK 15 14
Z2HMZ8
Z7KBC8
ZCO6XM 32 35

GEMAN 500M, 500-M (nappali diff.egy.):
IF (zh1<20 OR zh2<20) THEN Jegy=1, 
ELSE
 % = Ceiling(zh1/40+zh2/40)*50+6
 Jegy: 2: 50%-62%, 3: 63-75, 4: 76-87, 5: 88-...
ENDIF
Itt a +6%: sikeres zh: +3%, sikeres pzh: +1%

GEMAN500ML, 141ML (levelezo diff.egy.):
IF (zh<18) THEN 1,
ELSE
 % = Ceiling(zh/36)*100+6
 Jegy: 2: 50%-62%, 3: 63-75, 4: 76-87, 5: 88-...
ENDIF


